10

I11.

12.

13.

14.

15.

16.

17.

18.

19.

20.

L3 +4x—T=Bx+T)(x—1)

5%+ 19x—4=5x-1D(x+4)

S —x—4=0GBx+4)(x-1)

L6 +x—2=3x+2)2x-1)

377 +2-2=3z-2)(z+1)

8y =y=9=@8y-9(y+1)

10+y=2y" ==12y* +y—10)= =12y +5)(y-2)
X —xy—=56y" =(x—8y)(x+7y)

.9a> +3a—2=Ba-1)(3a+2)

.6-23a—4a* =-1(4a*> +23a - 6)=—1(4a—1)(a + 6)

9r* —25rs — 65 = —1(65> +25rs — 9r*) = —1(35s — 1r)(2s + 9r)
3a*>+2a—-5=3a+5)a-1)

3a’ — 5ab—12b* = (3a + 4b)(a — 3b)

25a” +10ab - 3b*> = (5a —1b)(5a + 3b)

20k> +27k -8 = (4k—1)(5k +8)

36d> —5d —24 = (4d + 3)(9d — 8)

15-3la—-24a*> =—(24a’ +3la—15)=—(8a—3)(3a+5)

2y +4)7 - (y+4)-3=[20+4-3][(y+4)+1]

(=17 =14 = D=15=[ (" = D=15][(x* = D) +1]

10(a—b)* —11(a—b)— 6 =[5(a—b)+2][2(a - b) + 3]



21.

22.

23.

24.

25.

26.

217.

28.

29.

30.

31.

32.

33.

34.

35.

36.

37.

38.

39.

40.

15k> — 35km — 30m® = 5(3k* — Tkm — 6m*) = 5(3k + 2m)(k — 3m)
36u” —78u — 30 = 6(6u” —13u—5) = 6(3u +1)(2u — 5)

6u’ — Tuv —20v* = Bu+ 4v)Qu — 5v)

54x> +21xy =20y = (9x — 4y)(6x+5y)

3x> —10xy — 8y> = (B3x +2y)(x — 4y)

2a’ —5ab—12b* = (2a+ 3b)(a — 4b)

2m* —m—10=(2m—-5)(m+2)

2x"+7x—15=2x-3)(x+5)

3x” —10x—8 =(Bx+2)(x—4)

10> =13t =77 = (5t +11)(2t - 7)

20a’ —13a—21=(5a—7)(4a+3)

12a® — 8ab —15b = (6a + 5b)(2a — 3b)

56m* —19mn —15n> = (8m + 3n)(7m — 5n)

20x* —37x* —18 = (5x° +2)(4x* = 9) = (5x> +2)(2x + 3)(2x - 3)
6x* —53x" =9 =(6x" +1)(x* —9) = (6x" + 1)(x + 3)(x— 3)

20k + 18kl — 351° = (5k — 41)(5k + 71)

28x* + 3xy — 6y = prime

12x* +17x* = 5= (4x> = 1)(3x* +5)

32x* —=2x%y* = 9y* = (16x7 —9y*)(2x* + y*) = (4x + 3y)(4x — 3y)2x* +y°)

10x> —29xy —21y* = (5x+3y)(2x = 7y)



